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ol oy3Egs A& 684,015 671,037 12,978
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—AMBAMEERARAF 1,000,000& x6H 6,000
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201 LEt2 Y| 560 280 280
01 A2 22| bl 560 280 280
SEEELE! o B 2y
70,000& x4H x23| 560
202 04| 17,000 17,000 0
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=2l &) 5,500, 000& 14 5,500
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2,600,000 104 2,600
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100,000& »2CH 200
OXtS AHA 221
oA E 162,000 »1CH * 12 162
-geE 59,0003 x1CH* 12l 59
OINERE= 60,0003 *22 120
oZ3gs 838 g2 16,550 5,310 11,240
o¥Es ANz2FEH & 8 16,550 5,310 11,240
201 fEt2E | 16,550 5,310 11,240
01 AtR 2t 2l | 16,550 5,310 11,240
OFdlal & AAE 325 L2H(H=) 1,500
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—5%5 5003 x50& ~12& 300
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OZUW bl 53,760
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